
���ก�������	
��ก
��������ก���������	ก
� PRIUS

ก���������	ก
� : I = �����������ก��� ����� �!"#$%�&' (������ )$ ;

R = � �!"#$  ('�# ������'���"$ ; C = ,��-��&����.

��#����������/0- : ��-������'

(���������	
������
�������ก�����ก�
�) (2 �	$,!" 105-.54) 1 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80

���������	������
����	�
��� !
1.����$%����	�
� (�'�$���� ( 1) R R R R R R R R R:6

2.ก�
�����$%����	�
� R = 255 ��,/�@ก R R R R R R R R R:6

3.��++������$��,���	
-��� 
�! I I I:24

( �'�$���� ( 2 .
� 3 )
4.�����
�
��,����	�
��� ! (�'�$���� ( 4,5,6 ) I I  -

5.�����
�
��,��(���+�($�
%���� (�'�$���� ( 4,6,7 ) I I  -

6.��
4
����.
������ I I I I I:12

��++5(����+��
7.�%������  -

8..+ � 
��� I I I I I I I I I:6

��++��+�($$
7���.
���++��	�
��
��
9.ก�
�����$%���	�
��
�� (�'�$���� ( 8) R R:48

10.4�:ก�
�
�ก�; R = 650 ��,/�@ก I R I R

11.<�=>��%�����$%���	�
��
�� ��
��	�
��
�� �:
 �
 I I I:24

.
���
!���+�($4
����$%���	�
��
�� (�'�$���� ( 3)
12.�$:
�%ก4
����$%�(Charcoal canister) I I I:24

����
���.
� %��%�
13..=K��+�ก.
��+�ก�����%+5
� I I I I I I I I I:6

14.L:��+�ก.
�5�����ก!�+�ก I I I I I I I I I:6

�.��$

� �!"#$,�กB 100,000 ก&.

I:12 , R:24



���ก�������	
��ก
��������ก���������	ก
� PRIUS

ก���������	ก
� : I = �����������ก��� ����� �!"#$%�&' (������ )$ ;

R = � �!"#$  ('�# ������'���"$ ; C = ,��-��&����.

��#����������/0- : ��-������'

(���������	
������
�������ก�����ก�
�) (2 �	$,!" 105-.54) 1 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80

����
���.
� %��%�
15.����$%��+�ก R = 115 ��,/��. I I I R I I I R

16.��
���.
���
�������$%��+�ก I I I I I:12

17.���$�
%� �:
 �
+%��%+�
���� .
�����$%� I I I I I:12

     ก��=(ก�ก���!+%��%+�
����
18.����(:$��
��%+ I I I I I:12

19.
'ก�$�ก.
�<���
+ก%�<(M� I I I I I:12

20.����$%��ก���!
% N�$% � I I I:24

21.��++�
��%+�:����:�.
��:���
%� I I I I I:12

22.���.
�.���%�
$��� I I I I I I I I I:6

23.4O��
������ . � ���=P�����<�.
�Q������ I I I I I I I I I:6

      
:��ก��5ก
24..L��ก�
�
�ก�;���	�
�=�%+
�ก�; R = 600 ��,/�@ก C C R C C R C C  -

25.��++=�%+
�ก�;/���������$��,� I I I I I:12

�$���� ( : 1. API SL ��	
 SM, ��	
 ILSAC 3. �
%�5�ก 80,000 ก$. ��	
 48 ��	
� Z�: ��5�
+�(ก[ 20,000 ก$. ��	
 12 ��	
�
2.  ��5��,��'���4$�$��;\Z+4$:  �����ก=�ก ��	
]�ก.$
�
(� %�����$:
����.
��
�����]
�!  ���������$��
�������ก=�ก��
���%���:�5���=^���:
$ก%+ ��5��,��7��ก�� �� %��.
�ก��L(ก��
�����
� �
��

4. Z�:�Q����������
�
��,�  " Toyota Super Long Life Coolant " ��	
�������
�
��,����$��(f7���'�.++�����ก%� N��$�����L�$�
��
�g�
��-4ก
�

 . � :
�=��;5�ก���=��ก
+]�
�ก� ���=��ก
+
4�N ��5� ก��4� �%� .
�ก��N+��� ]���Z�:���N�N
��ก��L�$��	�
�	�
��(ก��Z�:���(�������
�
��,����Z�:���N�N
��ก��L�$��	�
�	�
��(ก��Z�:����%�� $�����L�$�
����=��ก
+O
��O .
�ก��

������! ���  ,5.�=
������� 160,000 ก$.5�ก�%���=
�����(ก[ 80,000 ก$. ,6.4$�5���=^� :
� ��5�
+���%+�������
�
��,� "Toyota Super Long Lift Coolant"�$	�
5���=^� :
��=
����
Toyota Super Long Lift Coolant ,7.�=
������� 240,000 ก$.5�ก�%���=
�����(ก[ 80,000  ก$. ,8.��$�%��ก�
�Z��%�����$%���	�
��
���:��

I:6 , R:24

�.��$



���ก�������	
��ก
������&@���Dก��

���	�
��� !�+�]�� -

�ก�.$E��&	$�-�D"�� :

����$%����	�
��ก����$$� ���� API �ก�� SL ��	
 SM

0W-20 , 5W-20 , 5W-30 , 5W-40 .
� 10W-30  

          1.1 (0.043)
���������������%������ $$. (����):
DENSO  SC20HR11

�	��,!#$ :
4
���� 
4
��  
����������
!�(���	�
���,�),$$.(����):  

���$5(�%�����$%���	�
��
�� : 45  
� �

�-��"��#$�F : 

-'�ก���$.ก����Dก��

�(�� : 2RZ - FXE 
4 �'+�����, 4 5%����, ���	�
��+�]�� ���$N ก��+
ก�'+.
������%ก, $$.   80.5 x 88.3 (3.17 x 3.48 ����

���$5(ก��+
ก�'+, ]$.3  1,798 (109.7 
+.����)

����$%��+�]��4�:��� �ก%�����$����
,
ก��� 91 ��	
�'�ก��� ����$%�.กt�N]-

! E10 �����%��

/$D.$E��&	$�/�E��G�D� :

�-��"��#$�F : 

4$��=
����4�:ก�
�      3.9

�=
����4�:ก�
�      4.2
���$5(����$%� (����.
�� �$),
� �

ก����'���"$�-��"��#$�F :


